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Find the data

• Use the cd command or navigate
from the Matlab Current Folder 
windows

• The images are all together in a 
folder, they are saved slice by 
slice.

• When you open the folder, you’ll
find a collection of file.



Extract the dicom information

• In the Command Window type

Info=dicominfo('PT000000.dcm’)

This will put all the information in 
the info variable. It will help to 
retrieve the necessary data.



Formula used

• 𝑆𝑈𝑉 =
𝑈𝑝𝑡𝑎𝑘𝑒 Τ[𝐵𝑞 𝑚𝑙]

𝐴𝑖𝑛𝑗[𝐵𝑞]
∙ 𝑊𝑒𝑖𝑔ℎ𝑡 𝑔 Τ𝑔 𝑚𝑙

• 𝐴𝑡 = 𝐴0 ∙ 𝑒
−0,693∙

∆𝑡

𝑇 gives the activity at the time ∆𝑡 after it has 
been measured at 𝐴0(to take into accound the natural radioactive 
decrease)



Extract the information from data
• Weight : w= info.PatientWeight

• Activity (in MBq)

A0= info.RadiopharmaceuticalInformationSequence.Item_1.RadionuclideTotalDose / 1000000

• Time of measurement

Tm = info.RadiopharmaceuticalInformationSequence.Item_1.RadiopharmaceuticalStartTime

• Time of acquisition : Here you must be carrefull.  Be sure the slice you selected is the FIRST one acquired. In doubt use the SeriesTime instead of the acquisition time.

Ta=info.AcquisitionTime

• Half live :

T= info.RadiopharmaceuticalInformationSequence.Item_1.RadionuclideHalfLife

• Delay (in s)

DT=str2num(Ta(1:2))*3600+str2num(Ta(3:4))*60+str2num(Ta(5:6))-str2num(Tm(1:2))*3600-str2num(Tm(3:4))*60-str2num(Tm(5:6))

DT/60         to have the delay in min instead of s.

• Activity at time of acquisition (in MBq)

A=A0*exp((-0.693)*DT/T)

• Factor used to multiply the image in SPM-PET→ imcalc

F=w/(A*1000)


